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=log, m—log, n

The logarithm of a quotient (division) is the same as  :
the SVPRITATNIGN of the logs !

' Example 5: Expand log x =
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E' Example 3: Expand. 10 — !I
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wple 2: Condense log, 10+ log, x+ log, 7

Example 4: Condense log, 10— log, x
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. | .- You Try! Condense zlog, =

You Try! Condense log, x—log, m 24

gense: log, x + log, m+log, 9
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lw\l @ver see O square root In a problem. you must convert it to a rational exponent. *Remember - the index beoomumo
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e) Condense 6log. g —9log, b
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RULE: If 'ﬁhgr;e are multiple logs on the same side of an equation,

10g35 log, x=log, 10

5. Solve forx: log(-3m-1) =log(-4m - 6)
-2m=-V= Y -0
M-} = -6




